13.01.21
Maths

We will have 1 more day of multiplying by 1 number. It is important we feel confident with this before moving on to multiplying by 2 numbers. Today the tables are harder but the technique is exactly the same. 
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Challenge Questions
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Answers
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Challenge Answers

Dexter is correct. Alex forgot to add the two hundreds she exchanged from the tends column.

814 x 5 = 4,070
They ready 4,070 pages altogether
814 x 3 = 2,442
Teddy read 2,442 pages fewer than his mum
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TARGET To multiply TU and HTU by U using a written method.

Examples
57 7x6=42 Cayd0(" 637 7x9-63
x 6 50 x 6 = 300 X 9 (30 x9)+ 60 =330
34 2 300+ 40 =340 57 33 (600x9)+ 300 = 5700
‘ Answer 342 T Answer 5733
Work out Work out Work out
0 ¢« 0O « ©386x4 @ 307x3 Q 1275%9
a2 s ©263x7 ©248x9 @ 2568x6
0 x5 O ©29x3 @oraxs  @4749x5
e x 8 ©147x6 @ s39x8 Q36748
© v 0O % @78x3 ®sexz ©@787x4
X3 = Q39x5 @oxs @538x7
@ 3472x6
Q 4 QO n @ o9sx5 Boa7xa O 2893
a2 - X4 Os26x8 @ 780x7
0 2 @ s @ 4563 x9
X x 3 @ Onejar of mayonnaise @ 3856x5
AL s S holds 325 ml. How @ 276%7
0O » @ 4 much s there in six jars? @ s239x8
s ) @ The cost of entering
a half marathon is £7. @ There are nine nails in
® There s 78 ltres in 278 people take part. each pack. How many
each bag of compost. How much is raised by nals are there in 3908
How much is there in the entrance fees? packs?
four bags? @ A plane flies 9042 miles

every day. How far does
it fly in a week?

@ Tickets for an ice show

@ Pens cost 49p each.
Peggy buys five. How

much does she pay?
" cost £8. In one week
(D There are eight classes 4815 tickets are sold.
in a school. Each class @ Each flower tray has How much is taken at
has 26 children. How nine plants. How many the box office?
many children are plants are there in 167 @ Colete cams £17.59
there in the school? trays? per hour. How much

€ How much is 736 five does she earn in six
pound notes? hours?
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Spot the mistake

Alex and Dexter have both completed the
same multiplication.

<

Alex Dexter
HI T O H T|O
23 4 2.3 4
X 6 X 6
1.2/0/4 1404

2 2 2
Who has the correct answer?

What mistake has been made by one of
the children?
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Teddy and his mum were having a
reading competition.
In one month, Teddy read 814 pages.

His mum read 4 times as many pages as
Teddy.

How many pages did they read
altogether?

How many fewer pages did Teddy read?
Use the bar model to help.

Teddy 814

Mum| 814 814 814 814
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